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Dataset apfel hoppet
HERA1+2 NCep 820 66/70 84 / 68
HERA1+2 NCep 460 221 /204 235 /200
HERA1+2 CCep 48 / 39 49 / 39
HERA1+2 NCem 224 /159 224 /159
HERA1+4+2 CCem 59 /42 58 /42
HERA1+2 NCep 575 216/ 254 216 /249
HERA1+2 NCep 920 471/377 568 / 363
Correlated x? 106 165

Log penalty x* +10 +0.49
Total x? / dof 1422 /1131 1600/ 1106
x° p-value 0.00 0.00




Parameter apfel hoppet
"Adbar’ 0.2339 + 0.0076 0.2339 + 0.0076
"Adv’ 1.0000 1.0000

‘Ag’ 1.0000 1.0000

"Agp’ 0.059 + 0.051 0.059 + 0.051
"Auv’ 1.0000 1.0000

"‘Bdbar’ —0.0750 + 0.0043 —0.0750 + 0.0043
"‘Bdv’ 1.188 + 0.072 1.188 + 0.072
‘Bg’ —0.127 + 0.056 —0.127 + 0.056
‘Bgp’ —0.476 + 0.066 —0.476 £ 0.066
"‘Buv’ 0.897 + 0.020 0.897 £+ 0.020
‘Cdbar’ 12.6 +£2.0 12.6 +£2.0
‘Cdv’ 5.40 £ 0.35 5.40 + 0.35
'Cg’ 3.97 +£0.47 3.97 +£0.47
"Cgp’ 25.00 25.00

‘Cubar’ 9.0+2.6 9.0+2.6

‘Cuv’ 4.746 + 0.089 4.746 + 0.089
"Dubar’ -05+24 -05+24
"Euv’ 6.93 + 0.99 6.93 + 0.99

"ts’ 0.4000 0.4000

Fit status not-a-fit not-a-fit
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~~t A~ £



